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1 (a) Suggest two likely objectives of Dan Cartwright’s business in its first three years of operation.
L] 1= Yo 1177 0 R

1O 1Yo 1)Y= 2SR [2]

(b*) In 1998 Dan Cartwright chose to set up as a sole trader business rather than as a private

limited company. Evaluate the reasons why operating as a sole trader was an appropriate
choice for Dan’s business.
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[Total: 14]
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2 (a) Whatis meant by the term ‘stakeholder’?

............................................................................................................................................... [2]
(b) ldentify two internal and two external stakeholders in a business.

Internal Stakeholder T: ... ..o e a e e e

Internal StakehOoIdEr 2: ... .o

External STakeholder 1: ... e

External Stakeholder 2: ... [4]

(c) Explain how one internal and one external stakeholder is likely to view the proposed expansion
of Dan Cartwright’s business.

01 gTo kL= a IS £=12(= o) (o [=Y Sl ISR
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EXPIaNAtiON: ..
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(d) Evaluate whether or not Dan should accept the proposal from Arthur Trotter.

[Total: 21]
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(a) Define each of the following terms.

=T I 00 1=

(b) Explain why the £12000 paid annually to Manoj Patel is a fixed cost to Dan’s business.

(c¢) Michelle has drawn up the following break-even chart for the business.
(i) Label the two axes. 2]

(ii) Complete the following table identifying A, B, C and D on the break-even chart. [4]

Label

A

B
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Annual break-even chart for Dan Cartwright
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(iii) State the break-even output.
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(d) Due to inflationary pressures on his costs, Dan has increased the hourly rate which he
charges to customers. Using the following data, calculate the new break-even point of
Dan Cartwright’s business in terms of yearly/annual hours of work.

Hourly charge £40
Cost of items used £6 per hour of work
Fixed costs (including payment to Manoj) £31600 per year [4]

Show your working:

New break-even point = ..o yearly/annual hours of work

[Total: 18]
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(a)

(b)
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State three advantages of producing a cash flow forecast or cash budget using a spreadsheet.

X0 172 | = T 1= RS

With reference to Dan Cartwright’s business, identify and explain two reasons why accurate
financial record keeping is essential for successful business operations.

(R TY=E<T0] o Tt [T
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(c) (i) The data below is extracted from Dan’s cash budget for December 2006. The variance is
expressed as a percentage of the budget figure.

Complete the following table. You are advised to show your working. [6]
ltem Budget figure Variance Variance Actual figure
(£) (%) (£) (£)
Cash inflow:
Sales 3200 20 Favourable

Cash outflow:

Petrol 120 10 Adverse
expenses
Purchgse 3 500 5 Adverse
materials
Show your working:
(i) Calculate the net total variance. [3]

Show your working:

N (=Y B (01 2= LY Z= T 1= 10 (oS NP
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(d) Analyse each of the variances identified in part (c)(i).

STz 1 =TT

[Total: 25]
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5 (a) Ms Gupta has indicated to Dan that he should complete a SLEPT analysis in relation to the
proposed expansion of his business.

Complete the SLEPT analysis grid for the proposed expansion of Dan’s business identifying

two likely factors for each element of SLEPT. [10]
Social 2 USROS
72 SRS
Legal 1 PP P PP POPPPPPPPPP
7 USRS
Economic T e
7 USSR
Political T e
72 USSR
Technological 1 L PP PP PPPPPPPPPPP
7 USRS
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(b) Assess the possible impact on the proposed expansion of Dan’s business of changes in the
economic environment.

[Total: 22]
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If you use these lined pages, you must write the question number next to your answer.

© OCR 2007



15

© OCR 2007



16

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every
reasonable effort has been made by the publisher (OCR) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the
publisher will be pleased to make amends at the earliest possible opportunity.

OCR is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES),
which is itself a department of the University of Cambridge.

© OCR 2007



